C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
g (15/40N+6)-(1/8N+18) 1
2
2 (%z-16)-(Yz+18) )
4.
Y (Vk-11)- (Ve -3) .
6.
Y (Yc+ 1)+ (YasC+5) .
8.
) -(6/9H-3)+(1/9H+5) 0
10.
6)

(VW -9) - (7 eW +10)

D (N -20)- (Fev -11)

¥ (Y re18)-(YF-13)

Y (Yx-16)- (YeX -5)

0 (YG-15)- (VG +6)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 2




ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
Y YN +6) - (/N +18) 1 10/40'\"12
40N +6- 740N - 18 . /z-34
2 (%z-16)-(Yz+18) S
ez - 16- 7oz - 18 L - /C2
D (VK -11) - (Ve - 3) s /o2
VoK - 11- ek + 3 VA
K ( 7/9C +7)+( 8/36C +5) k _24/24V+31
YV 6C-T+ /3gC+5 g ‘6/12':'5
D (YH-3) + (YeH +5) RS
-6/9H +3+ l/9H +5 10 -7/5G+9
¥ (Yaw-9)-(Yew +10)
-9/15W +9- 6/15W -10
D (N -20)- (v -11)
N +20- VoV + 11
¥ (Y re18)-(YF-13)
V- 18-/ F + 13
Y (Yx-16)- (YeX -5)
YoX -16- /X +5
0 (YG-15)- (VG +6)
VG +15- /G- 6
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